

### Aufgabe 9.45

Berechnen Sie a)  $\sum_{n=0}^{\infty} (2^{-3n} + 3^{-2n})$ , b)  $\sum_{n=0}^{\infty} \frac{1}{(n+1)(n+3)}$  !

#### Lösung:

$$\begin{aligned} \text{a) } \sum_{n=0}^{\infty} (2^{-3n} + 3^{-2n}) &= \sum_{n=0}^{\infty} \left( \frac{1}{2^{3n}} + \frac{1}{3^{2n}} \right) = \sum_{n=0}^{\infty} \left( \frac{1}{8^n} + \frac{1}{9^n} \right) = \frac{1}{1-\frac{1}{8}} + \frac{1}{1-\frac{1}{9}} = \frac{1}{\frac{7}{8}} + \frac{1}{\frac{8}{9}} \\ &= \frac{8}{7} + \frac{9}{8} = \frac{64+63}{56} = \frac{127}{56} \end{aligned}$$

$$\text{b) } \frac{1}{n+1} - \frac{1}{n+3} = \frac{(n+3) - (n+1)}{(n+1)(n+3)} = \frac{2}{(n+1)(n+3)}$$

$$\begin{aligned} S_N &= \sum_{n=0}^N \frac{1}{(n+1)(n+3)} = \frac{1}{2} \sum_{n=0}^N \left( \frac{1}{n+1} - \frac{1}{n+3} \right) \\ &= \frac{1}{2} \left( 1 - \frac{1}{3} + \frac{1}{2} - \frac{1}{4} + \frac{1}{3} - \frac{1}{5} + \frac{1}{4} - \frac{1}{6} \pm \dots + \frac{1}{N} - \frac{1}{N+2} + \frac{1}{N+1} - \frac{1}{N+3} \right) \\ &= \frac{1}{2} \left( 1 + \frac{1}{2} - \frac{1}{N+2} - \frac{1}{N+3} \right) \xrightarrow{n \rightarrow \infty} \frac{1}{2} \left( 1 + \frac{1}{2} \right) = \frac{3}{4}, \end{aligned}$$

$$\text{also gilt } \sum_{n=0}^{\infty} \frac{1}{(n+1)(n+3)} = \lim_{N \rightarrow \infty} S_N = \frac{3}{4}.$$